KASNEB

CIFA PART 11 SECTION 4

EQUITY INVESTMENTS ANALYSIS

THURSDAY: 25 May 2017.

Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
Differentiate between a “low-cost strategy” and “product differentiation strategy” as used in company analysis.

(a)

(b)
(©)

Discuss four external factors that could affect an industry’s sales and profitability.

)

(i)

(4 marks)

(8 marks)

Outline three adjustments that could be made to the financial statements to improve the accuracy of the

residual income model.

(3 marks)

The following information shows the expected earnings per share (EPS) and dividend per share (DPS) for

Phamtex Ltd. for three consecutive years:

Year 1 2 3
EPS (Sh.) 2.00 2.50 4.00
DPS (Sh.) 1.00 1.25 12.25

Additional information:

I.

It is expected that the last dividend will be a liquidating dividend.

2. Phamtex Ltd. will cease its operations after the end of year 3.
3. The current book value per share is Sh.6.00.

4. The estimated required rate of return on equity is 10 percent.
Required:

The intrinsic value of Phamtex Ltd.’s share using the residual income model.

QUESTION TWO
Explain the following terms as used in equity investments analysis:

(a)

(b)

(i)

(i)
(iii)
(iv)

Defensive shares.
Growth shares.
Top-down economic analysis.

Bottom-up economic analysis.

(&»harks)
(Total; 200 marks)

{1 mark)
(1 mark)
(1 mark)
(1 mark)

Biostar Ltd. uses bonds, preferred shares and ordinary shares as a source of its finance. The current market value of
each of these sources of financing and the required rates of return before tax for each of the sources of financing are as
given below:

Market value
Sh. “million”

Bonds 400
Preferred shares 100
Ordinary shares 500
Total 1,000

Additional information:

W o LN —

The net income available to ordinary shareholders is Sh.110 million.
Interest expenses amount to Sh.32 million.

Depreciation is Sh.40 million.

Investment in fixed capital is Sh.70 million.

Investment in working capital is Sh.20 million.

8.0
8.0
12.0

Required rate of return

(%)
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(c)

6. Net borrowing is Sh.25 million.

7. Corporation tax rate is 30%.

8. Stable growth rate of free cash flow to the firm (FCFF) is 4%.

9. Stable growth rate of free cash flow to equity (FCFE) is 5%.

Required:

(i) The firm’s weighted average cost of capital (WACC). (2 marks)
(ii) The current value of free cash flow to the firm (FCFF). (3 marks)
(iii) The total value of the firm. (2 marks)
@iv) The value of the firm’s equity. (1 mark)
(v) The current value of free cash flow to equity (FCFE). (2 marks)
(vi) The value of equity based on the forecasted free cash flow to equity obtained in (b) (v) above. (2 marks)
(i) Babito Limited pays an annual dividend of Sh.3 per share. The company is expected to continue paying this

dividend with no future growth in dividends. Investors require a 9% rate of return on investment (ROI). The
current risk-free rate is 4%.

Required:
The current value of Babito Limited’s share. (2 marks)

(ii) ABC Limited has just paid a dividend of Sh.2 per share. The required rate of return is 12%. The share is
currently trading at Sh.35 per share at the securities exchange.

Required:
The growth rate using the Gordon’s growth model. (2 marks)
(Total: 20 marks)

QUESTION THREE

(a)
(b)

(©

Propose three stock specific factors that could affect the value of private companies. (6 marks)
(i) The following information relates to Fadhili Limited for the year ended 31 December 2016:

. Earnings before interest and tax (EBIT) is Sh.2.5 million.

. Corporation tax rate is 30%. \

. Weighted average cost of capital (WACC) is at a rate of 1 1%. \

. Total debt is Sh.10 million.
. Total equity is Sh.10 million.

Required:
The company’s economic value added (EVA) for the year ended 31 December 2016. (3 marks)
(ii) Highlight two limitations of economic value added (EVA) obtained in (b) (i) above. (2 marks)

Dave and Sons Ltd.’s shares are currently trading at Sh.38.50 per share. The trailing twelve months (TTM) earnings
per share (EPS) and dividend per share (DPS) of the company is Sh.1.36 and Sh.0.91 respectively. The return on
equity (ROE) is 27%, the profit margin on sales is 10.9%. The treasury bond rate is 4.9%, the equity risk premium is
5.5% and Dave and Sons Ltd.’s beta is 1.2. Both dividend and earnings growth rate are 9%.

Required:
Compute the following:
(i) Justified price to earnings (P/E) ratio. (3 marks)
(i) Justified price to book (P/B) ratio. (3 marks)
(iii) Justified price to sales (P/S) ratio. (3 marks)
(Total: 20 marks)
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QUESTION FOUR

(a)

(b)

(c)

Examine three advantages and three disadvantages of using price to earnings (P/E) multiple in equity valuation.
(6 marks)

Diana Kamau, an equity analyst is researching on the valuation of Futures Technologies Ltd. as at the beginning of
November 2016. On 8 November 2016, Futures Technologies Ltd.’s shares closed the day at a price of Sh.25.72 per
share. The company experienced a severe cyclical contraction in consumer electronics division in the year 2016
resulting in a loss of Sh.1.94 per share which prompted Diana Kamau to normalise earnings. Diana believes that the
period between the year 2010 to the year 2015 reasonably captures average profitability over a business cycle. Data on
earnings per share (EPS), book value per share (BVPS) and return on equity (ROE) are as follows:

Year 2016 2015 2014 2013 2012 2011 2010

EPS (1.94) 2.11 1.15 0.87 1.16 0.55 1.14

BVPS 13.87 16.62 9.97 11.68 6.57 6.43 6.32

ROE NM 0.129 0.104 0.072 0.168 0.083 0.179

Where:

NM = Not meaningful

EPS = Earnings per share

BVPS = Book value per share

ROE = Return on investment

Required:

(i) Normal EPS for the company based on the historical average EPS. (1 mark)

(ii) Price to earnings (P/E) ratio based on the estimated normal EPS in (b) (i) above. (1 mark)

(iit) Normal EPS for the company based on the average ROE method. (1 mark)

(iv) P/E based on the normal EPS obtained in (b) (iii) above. (1 mark)

v) Explain the source of the difference in the normal EPS calculated under the average ROE method and the
historical average EPS method. Contrast the impact of the difference on the estimated normal P/E ratio.

(2 marks)

Moses Agina is considering valuing AGZ Ltd. using the H-Model approach. The relevant inputs for valuationgare’ as
follows:

l. Current dividend per share is Sh. 1.

2. The dividend growth rate is 29.28% declining linearly over a 16-year period to a final and pggpetual growth
rate of 7.26%.

3. The risk-free rate is 5.34%. .

4. The market risk premium is 5.32%. \

5. The beta estimate is 1.37.

Required:

(i) The required rate of return for the company. (2 marks)

(ii) The per share value estimate of the company using the H-model. (6 marks)

(Total: 20 marks)

QUESTION FIVE

(a)

(b)
(©)

Describe the following terms in relation to equity markets:

(i) Quote-driven market. (1 mark)
(ii) Electronic crossing networks. (1 mark)
(iii) Brokered markets. (1 mark)
Summarise four services that could be provided by securities brokers in your country. (4 marks)

The following information relates to Quadrant Limited Securities trades in a given week in the month of April 2017:

° On Tuesday, the share price of Quadrant Limited closes the day at Sh.20 per share.
° On Wednesday morning before the market opens, the equity manager decides to buy Quadrant Limited’s

shares and submits a limit order for 1,000 shares at Sh.19.95. The price does not fall to Sh.19.95 during the
day, so the order expires unfulfilled. The share closes the day at Sh.20.05.
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(d)

. On Thursday, the order is revised to a limit of Sh.20.06. The order is partially filled that day as 800 shares are
bought at Sh.20.06. The commission is Sh.18. The share closes at Sh.20.09 and the order for the remaining
200 shares is cancelled.

Required:

(i) The gain or loss on the paper portfolio. (2 marks)
(i) The gain or loss on the real portfolio. (2 marks)
(i) Implementation shortfall. (2 marks)

Johnson Simiyu, an investment consultant has been approached by the management of Zee Ltd., a private company, to
assist in valuation of Zee Ltd. The firm has an annual sales of Sh.200 million. Johnson Simiyu assumes for the next
twelve months that Zee Ltd.’s revenue will increase by the long-term annual growth rate of 3%. He also makes the
following assumptions:

1. Gross profit margin will be 45%.

2. Depreciation will be 2% of revenues.

Selling, general and administration expenses are 24% of revenues.

I

4. Capital expenditure will be 125% of depreciation to support the current levels of revenues.

5. Additional capital expenditure of 15% of incremental revenues will be needed to fund future growth.

6. Working capital investment equals 8% of incremental revenues.

7. Marginal tax rate is 30%.

Required: )

The free cash flow to the firm (FCFF). (7 marks)

(Total: 20 matks)
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